Linear Equations




Study Sheet
	What is the solution to the equation below?

5x + 8 = 23

A.

x = 3

B.

x = 4

C.

x = 23
       5

D.

x = 31
       5


	3

What is the value of y in this equation?

5 (y – 3) = 45

A.

6

B.

8.4

C.

9.6

D.

12



	2

What is the solution to the equation 5x = 20

A.

x = 4

B.

x = 5

C.

x = 15

D.

x = 100


	4

Which if these values for n would make the inequality true?

2n + 5 > 14

A.

0

B.

2

C.

4.5

D.

9.5




Linear Equations


 

Study Help
Reading the question

Underline or circle the key (important) words.  If you wish cross out the unnecessary words

Look for the words that tell you that you have to find the value of the letter:  solve, find

Three Ways of Solving Equations:

1.
Do the same to both sides (DSBS)

2d – 3 = 14

     + 3    +3  (add 3 to both sides)

2d       = 17

2d       = 17  (divide both sides by 2)

2
     2

d         = 8½

2. Using “Backtracking” to solve 2d – 3 = 14

	Input
	d = 8½
	
	
	
	
	

	
	
	x2
	
	-3
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	8½

	
	17
	
	14
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	/2
	
	+3
	
	

	
	
	
	
	
	
	

	
	
	
	
	Output
	14
	


3. Check and test by substitution for solving 2d – 3 = 14

	A.
	4
	2 (4) – 3 = 8 – 3 = 5
	False

	B.
	5.5
	2 (5.5) – 3 = 11 – 3 = 8
	False

	C.
	8.5
	2 (8.5) – 3 = 17 – 3 = 14
	True (test no further?)

	D.
	10
	2 (10) – 3 = 20 – 3 = 17
	False
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